
 40.25 

 44.95 

 26.50 

 7.96 

OPTIONAL SETUP FOR 
VISUALIZATION

OPTIONAL TOP COVER PLATE
833-1632A
(ORDER UNDER 933-0136A)

COVERPLATE
(OPTIONAL ORDER)

CLOSED

OPEN

QTY DESCRIPTION PART NUMBER
8 10-32 X 3/4" Machine Screw Zinc 401-0013
8 #10 Lock Washer Zinc 403-0010
8 #10 Flat Washer Zinc 403-0007A
4 1/4-20 X 1" Bolt Zinc 401-0025
6 1/4" Lock Washer Zinc 403-0004
6 1/4" Flat Washer Zinc 403-0005
6 3/8 Cage Nut 407-0015A
6 3/8-16 X 1" Bolt Zinc 401-0042
6 3/8" Flat Washer Zinc 403-0008
6 3/8" Lock Washer Zinc 403-0013
2 M6 X 1" Machine Bolt Zinc

SIZE

MFG.  NO.

A

REV.MATERIALFINISH

NAME DATE

DRAWN

CHECKED

SHEET 1 OF 2
USED ON:

2020 Ford Utility
Subframe (No Tire Acess)

Date: February 14, 2020 9:54:21 AM
File: 933-0135A
Path: M:\MECH_DATA\933 Storage Drawers\933-0135A - 2020 Ford Utility Subframe\

933-0135A

XXga CRS XX

IM

9XX-XXXX

0

DANDR-ANSI-A   
REV2
APRIL 1,2009

THE INFORMATION CONTAINED 
WITHIN THIS DRAWING IS 

PROPRIETARY AND CONFIDENTIAL. 
AND IS THE SOLE

PROPERTY OF DandR 
ELECTRONICS CO. LTD.  IT MAY

NOT BE REPRODUCED AT WHOLE 
OR IN PART WITHOUT THE

WRITTEN PERMISSION OF DandR 
ELECTRONICS CO. LTD.

DESCRIPTION:

29OCT19

CATALOG.  NO.
XXX

DESCRIPTIONREV. DATE APPROVEDBYDCR

AD 29OCT19



CLOSED WITH TRUNK SCAN

SIZE

MFG.  NO.

A

REV.MATERIALFINISH

NAME DATE

DRAWN

CHECKED

SHEET 2 OF 2
USED ON:

2020 Ford Utility
Subframe (No Tire Acess)

Date: February 14, 2020 9:54:21 AM
File: 933-0135A
Path: M:\MECH_DATA\933 Storage Drawers\933-0135A - 2020 Ford Utility Subframe\

933-0135A

XXga CRS XX

IM

9XX-XXXX

0

DANDR-ANSI-A   
REV2
APRIL 1,2009

THE INFORMATION CONTAINED 
WITHIN THIS DRAWING IS 

PROPRIETARY AND CONFIDENTIAL. 
AND IS THE SOLE

PROPERTY OF DandR 
ELECTRONICS CO. LTD.  IT MAY

NOT BE REPRODUCED AT WHOLE 
OR IN PART WITHOUT THE

WRITTEN PERMISSION OF DandR 
ELECTRONICS CO. LTD.

DESCRIPTION:

29OCT19

CATALOG.  NO.
XXX

DESCRIPTIONREV. DATE APPROVEDBYDCR

AD 29OCT19


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View11

	Sheet1(2)
	Drawing View6


